Re:18NSJ ZE /NN RFEERS1—)L

[1TZ] 10/8(X) x=53 15 0852CHELES.
* BRIFENT SO AEZF2l <2\ &N 14:00 TY.
188 HETSHHE — FHBIC — Y IR—L — W—P75) — BARORE
(ABH) | 10:40% Var:n==a0) 12:00 $ 12:40 3 13:00 &
£268 | (HE3ID) RESEBL2E @BHT)
258 s URRRIBALYY-9 ZXbh S1IREZIY— — BHMAEABE — BAROX
(BSLUF) | 10:50% 12:00 ¥ 12:30 H 13:00 &
£ 238 (B3 &) GRHEFLE.BHF218) @G@H28.128.225)
[J&Y] 10/10(A) szzean s~10 Aeicidinz = HEE\LET.
158 BAROE — W—P1 3 — Y IR—L —HEBIC — HABTSYHZ
(HBSE) | 13:30 13:50 & 14:30 & JEAE IC) 15:40 &
£ 265 BHTE) HELD.BI26) (FE3E)
288 BANDE — BHMARBEE — B ILRREEIY— — BUIT XD (FE)
(BSLLUB) |13:30 % 14:00 & 14:30 & 15:30 &
EA @BH2@.128.2208) Ok @BF218) EW3E)




